

Dynamical systems method (DSM) for solving operator equations

Alexander G. Ramm

Department of Mathematics
Kansas State University,
Manhattan, KS 66506-2602, USA
ramm@math.ksu.edu
URL [http://www.math.ksu.edu/~ ramm](http://www.math.ksu.edu/~ramm)

$$F(u) = 0 \quad (1), \quad F : H \rightarrow H, \quad \exists y : F(y) = 0$$

$$\sup_{u \in B(u_0, R)} \|F^{(j)}(u)\| \leq M_j(R), \quad j = 0, 1, 2.$$

$$B(u_0, R) := \{u : \|u - u_0\| \leq R\}$$

Well-posed (WP): $\sup_{w \in B(u_0, R)} \|[F'(u)]^{-1}\| \leq m(R)$

Ill-posed (IP): not well-posed.

$$\text{DSM: } \begin{cases} \dot{u} & = \Phi(t, u) \\ u(0) & = u_0 \end{cases}$$

$$(*) \quad \exists! u(t) \text{ on } [0, \infty); \quad \exists u(\infty); \quad F(u(\infty)) = 0$$

For what classes of equation (1) can one find Φ such that $(*)$ holds?

How does one choose Φ ?

Theorem 1. For any WP eq. (1) one can find Φ such that (*) holds and

$$\begin{aligned}\|u(t) - u(\infty)\| &\leq r e^{-c_1 t}; \\ \|F(u(t))\| &\leq \|F(u_0)\| e^{-c_1 t}. \quad (**)\end{aligned}$$

Here $c_1, r > 0$ are constants.

E.g.,

- a) $\Phi = -[F'(u)]^{-1}F(u),$
- b) $\Phi = -[F'(u_0)]^{-1}F(u),$
- c) $\Phi = -T^{-1}A^*F, \quad A := F'(u), \quad T := A^*A,$
- d) $F = -A^*F.$

Theorem 2. For any linear IP eq. (1):

$$F(u) = Au - f = 0,$$

where A is a linear, closed, densely defined operator, and equation (1) is solvable, one can find Φ such that (*) holds, convergence

$$u(t) \xrightarrow[t \rightarrow \infty]{} y$$

is uniform with respect to u_0 , and y is a unique minimal-norm element of the set

$$N := \{u : Au - f = 0\}.$$

E.g., one can take

$$\Phi = -u + T_{\varepsilon(t)}^{-1}A^*f, \quad T = A^*A, \quad T_\varepsilon = T + \varepsilon I,$$

$$0 < \varepsilon(t) \searrow 0, \quad \int_0^\infty \varepsilon(s)ds = \infty.$$

For unbounded A the element f may not belong to $D(A^*)$. In this case, the element $T_{\varepsilon(t)}^{-1}A^*f$, with $\varepsilon(t) > 0$, can be defined by considering the closure of the operator $T_{\varepsilon(t)}^{-1}A^*$ with the domain $D(A^*)$. This operator is closable, its closure is a bounded, defined on all of H operator, and

$$\|T_{\varepsilon(t)}^{-1}A^*\| \leq \frac{1}{2\sqrt{\varepsilon(t)}}, \quad \varepsilon(t) > 0.$$

It is possible to replace element $T_{\varepsilon(t)}^{-1}A^*f$ by the originally well defined element $A^*Q_{\varepsilon(t)}^{-1}f$, with

$$Q := AA^*.$$

The operator $A^*Q_{\varepsilon(t)}^{-1}$ is a bounded linear operator defined on all of H , and

$$\|A^*Q_{\varepsilon(t)}^{-1}\| \leq \frac{1}{2\sqrt{\varepsilon(t)}}, \quad \varepsilon(t) > 0.$$

These assumptions allow one, among other things, to handle differential operators on unbounded domains in the cases when the spectrum of such operators is continuous and contains the point $\lambda = 0$.

Theorem 3. For any eq. (1) with $F' \geq 0$, one can find Φ such that the conclusion of Theorem 2 holds.

E.g., $\Phi = -A_{\varepsilon(t)}^{-1}[F(u) + \varepsilon(t)u]$, $0 < \varepsilon \searrow 0$, $\frac{|\dot{\varepsilon}|}{\varepsilon} \leq \frac{1}{2}$.

Theorem 4. In Theorems 2 and 3 the DSM yields a stable approximation to y in the following sense: if

$$\|f_\delta - f\| \leq \delta,$$

and the data are $\{\delta, f_\delta\}$, then there exists a t_δ such that $\lim_{\delta \rightarrow 0} \|u_\delta - y\| = 0$, where

$$u_\delta := u_\delta(t_\delta),$$

and $u_\delta(t)$ solves eq. (2) with f replaced by f_δ .

E.g.,
$$\begin{cases} \dot{u}_\delta &= -u_\delta + T_{\varepsilon(t)}^{-1} A^* f_\delta \\ u_\delta(0) &= u_0, \end{cases}$$

where $T := A^*A$, $T_\epsilon = T + \epsilon I$.

A priori and a posteriori stopping rules for finding t_δ are found.

Arbitrary F with $\tilde{A} := F'(y) \neq 0$

Theorem 5. If $\tilde{A} \neq 0$, then there exists Φ such that (*) holds for a solution y of eq. (1) .

E.g., $\Phi = -T_{\varepsilon(t)}^{-1}[A^*F(u) + \varepsilon(t)(u - \tilde{u}_0)]$,

where \tilde{u}_0 is properly chosen, $T := A^*A$, $T_\varepsilon = T + \varepsilon I$, and

$$0 < \varepsilon(t) \searrow 0, \quad \frac{|\dot{\varepsilon}|}{\varepsilon} \leq \frac{1}{2}.$$

Spectral assumption

$F(u) + \varepsilon u = 0$ (1), $F : X \rightarrow X$, X is a Banach space.

(S) Assume: $\|A_\varepsilon^{-1}\| \leq \frac{c}{\varepsilon}$, $c = \text{const} > 0$,
 $A := F'(u)$, $A_\varepsilon := A + \varepsilon I$.

Theorem 6. If (S) holds, then eq. $F(u) + \varepsilon u = 0$ can be solved by a DSM.

E.g, $\Phi = -A_\varepsilon^{-1}(F(u) + \varepsilon u)$.

Theorem 7. If (S) holds and $\exists y : F(y) = 0$, then one can choose w such that equation

$$F(u_\varepsilon) + \varepsilon(u_\varepsilon - w) = 0$$

is solvable for every $\varepsilon \in (0, \varepsilon_0)$, and

$$\lim_{\varepsilon \rightarrow 0} \|u_\varepsilon - y\| = 0.$$

If $F(u) = Lu + g(u)$, L is linear, closed, densely defined operator, and $\|L^{-1}\| \leq m$,
then equation $F(u) = 0$ is equivalent to

$$u + L^{-1}g(u) = 0. \quad (1')$$

Theorem 8. Assume that

$$\sup_{u \in B(u_0, R)} \|[I + L^{-1}g'(u)]^{-1}\| \leq m_1(R),$$

and

$$\|u_0 + L^{-1}g(u_0)\| m_1(R) \leq R.$$

Then (*) holds for the problem:

$$\begin{cases} \dot{u} = -[I + L^{-1}g'(u)]^{-1}[u + L^{-1}g(u)], \\ u(0) = u_0. \end{cases}$$

Theorem 9. If F is monotone, i.e.,

$$(F(u) - F(v), u - v) \geq 0,$$

hemicontinuous, $D(F) = H$, and $\exists y : F(y) = 0$, then DSM holds for the problem:

$$\begin{cases} \dot{u} = -F(u) - \varepsilon(t)u, \\ u(0) = u_0, \end{cases}$$

where $0 < \varepsilon(t) \searrow 0$, $\varepsilon(t) = \frac{c_1}{(c_0 + t)^b}$,
 $0 < b < 1$, $c_0, c_1 = \text{const} > 0$.

Theorem 10. If

$$\sup_{R>0} \frac{R}{m(R)} = \infty,$$

then eq. $F(u) = f$ is solvable for any $f \in H$.

Theorem 11. If

$$\|[F'(u)]^{-1}\| \leq \psi(\|u\|),$$

where ψ is a continuous positive function, and $\int_0^\infty \frac{ds}{\psi(s)} = \infty$,
then F is a global homeomorphism of H onto H .

Construction of convergent iterative processes.

$$u_{n+1} = u_n + h_n \Phi(t_n, u_n), t_{n+1} = t_n + h_n.$$

Theorem 12. Any WP eq. $F(u) = 0$ can be solved by a convergent iterative process with $h_n = h = \text{const}$ and $\Phi = \Phi(u)$. The process converges at an exponential rate.

Other iterative schemes can be constructed, e.g., Runge-Kutta's type, et al.

Getting rid of the inversion of the derivative $[F'(u)]^{-1}$.

WP:

$$F(u) = 0.$$

$$A = F'(u), \quad T = A^*A, \quad T_\epsilon = T + \epsilon I.$$

$$(2') \quad \begin{cases} \dot{u} &= -QF(u), \\ \dot{Q} &= -TQ + A^*, \\ u(0) &= u_0, \quad Q(0) = Q_0, \end{cases}$$

Theorem 13. For problem (2') conclusion (*) holds.

IP:

$$(2'') \quad \begin{cases} \dot{u} &= -Q[A^*F(u) + \varepsilon(t)(u - \tilde{u}_0)], \\ \dot{Q} &= -T_{\varepsilon(t)}Q + I, \\ u(0) &= u_0, \quad Q(0) = Q_0. \end{cases}$$

Assume: $0 < \varepsilon(t) \searrow 0$, $0 < \frac{|\dot{\varepsilon}|}{\varepsilon} \leq c$, $T(y) \neq 0$.

Theorem 14. For problem $(2'')$ conditions (*) hold.

Theorem 15. If $g(t)$, $\gamma(t)$, $\alpha(t)$ and $\beta(t)$ are nonnegative continuous functions, $g \in C^1[0, \infty)$,

$$\dot{g} \leq -\gamma(t)g + \alpha(t)g^2 + \beta(t), \quad t \geq 0,$$

and there exists a $\mu(t) > 0$, $\lim_{t \rightarrow \infty} \mu(t) = \infty$,

$\mu \in C^1[0, \infty)$ such that

$$1) \alpha \leq \frac{\mu}{2} \left(\gamma - \frac{\dot{\mu}}{\mu} \right),$$

$$2) \beta \leq \frac{1}{2\mu} \left(\gamma - \frac{\dot{\mu}}{\mu} \right), \quad 3) g(0)\mu(0) < 1,$$

then $\exists g(t)$ on $[0, \infty)$ and $0 \leq g(t) < \frac{1}{\mu(t)}$.

Theorem 16. If $Q(t)$, $G(t)$ and $T(t)$ are linear operator-functions from $[0, \infty) \rightarrow H$, where H is a Hilbert space, and

$$\begin{cases} \dot{Q} &= -T(t)Q + G(t), \\ Q(0) &= Q_0, \end{cases}$$

where $(Th, h) \geq \varepsilon(t)\|h\|^2$, $\varepsilon(t) \geq 0$, then, with $a(t) := e^{\int_0^t \varepsilon(s) ds}$, one has:

$$\|Q(t)\| \leq a^{-1}(t) \|Q_0\| + a^{-1}(t) \int_0^t a(s) \|G(s)\| ds.$$

$$F(u) = 0 \quad (1), \quad \begin{cases} \dot{u} &= \Phi(t, u), \\ u(0) &= u_0. \end{cases} \quad (2)$$

Theorem 17. If

1) $(F'\Phi, F) \leq -c_1 \|F\|^2, \forall u \in H, c_1 = \text{const} > 0$

2) $\|\Phi\| \leq c_2 \|F\|,$

3) $r \leq R,$ where $r := \frac{c_2}{c_1} \|F_0\|, F_0 = F(u_0),$

then (*) and (**) hold, where

$$(**) \quad \|u(t) - u(\infty)\| \leq r e^{-c_1 t}, \quad \|F(u(t))\| \leq \|F_0\| e^{-c_1 t}.$$

Proof. Let $g(t) := \|F(u(t))\|$.

Then

$$g\dot{g} = (F'\Phi, F) \leq -c_1g^2.$$

Thus

$$g(t) \leq g(0)e^{-c_1t} = \|F_0\|e^{-c_1t}, \quad \|\dot{u}\| \leq \|\Phi\| \leq c_2\|F_0\|e^{-c_1t}.$$

So

$$\|u(t) - u(\infty)\| \leq re^{-c_1t},$$

$$\|u(t) - u(0)\| \leq R.$$

Theorem 17 is proved. □

$$\text{a) } \Phi = -[F'(u)]^{-1}F \Rightarrow c_1 = 1, c_2 = m, \quad \boxed{m\|F_0\| \leq R.}$$

$$\text{b) } \Phi = -[F'(u_0)]^{-1}F \Rightarrow c_2 = m, \quad -(F'(u_0) - F'(u_0) + F(u_0)[F'(u)]^{-1}F, F) \leq -\|F\|^2 + mMR\|F\|^2,$$

$$mM_2R = \frac{1}{2} \Rightarrow c_1 = \frac{1}{2}, \quad R = \frac{1}{2mM_2} \quad \|F_0\|2m \leq \frac{1}{2mM_2},$$

$$\boxed{4m^2M_2\|F_0\| \leq 1.}$$

$$\text{c) } \Phi = -[T]^{-1}A^*F \Rightarrow c_1 = 1, c_2 = m^2M_1, \quad \boxed{m^2M_1\|F_0\| \leq R.}$$

$$\begin{cases} \dot{u} &= -u + T_{\varepsilon(t)}^{-1} A^* f, & T = A^* A. \\ u(0) &= u_0 \end{cases}$$

$$0 < \varepsilon(t) \searrow 0, \quad \int_0^\infty \varepsilon ds = \infty.$$

$$u = u_0 e^{-t} + \int_0^t e^{-(t-s)} T_{\varepsilon(s)}^{-1} T y ds$$

Lemma 1. $\lim_{t \rightarrow \infty} \int_0^t e^{-(t-s)} h(s) ds = h(\infty)$ (if $\exists h(\infty)$.)

Lemma 2. $\lim_{\varepsilon \rightarrow \infty} T_\varepsilon^{-1} T y = y$ if $y \perp N(T) = N(A)$. Otherwise the limit is $y - P_{N(T)} y$.

Stopping rules 1.

Assume $\|f_\delta - f\| \leq \delta$. Then

$$\|u_\delta(t_\delta) - y\| \leq \|u_\delta(t_\delta) - u(t_\delta)\| + \|u(t_\delta) - y\|.$$

$$\lim_{t_\delta \rightarrow \infty} \|u(t_\delta) - y\| = 0$$

$$\begin{aligned} \|u_\delta(t_\delta) - u(t_\delta)\| &\leq \left\| \int_0^{t_\delta} e^{-(t_\delta-s)} T_{\varepsilon(s)}^{-1} A^*(f_\delta - f) \right\| \\ &\leq \frac{\delta}{2\sqrt{\varepsilon(t_\delta)}} \end{aligned}$$

If $\lim_{\delta \rightarrow 0} \frac{\delta}{\sqrt{\varepsilon(t_\delta)}} = 0$ and $\lim_{\delta \rightarrow 0} t_\delta = \infty$,

then $\lim_{\delta \rightarrow 0} \|u_\delta(t_\delta) - y\| = 0$.

Stopping rules 2.

Theorem. (New discrepancy principle) Assume that A is a bounded linear operator in a Hilbert space H , equation $Au = f$ is solvable, y is

its minimal-norm solution, $\|f_\delta - f\| \leq \delta$, and $\|f_\delta\| > C\delta$, where $C > 1$ is a constant. Then equation $\|Au_{\delta,\epsilon} - f_\delta\| = C\delta$ (*) is solvable for ϵ for any fixed $\delta > 0$, where $u_{\delta,\epsilon}$ is any element satisfying inequality $F(u_{\delta,\epsilon}) \leq m + (C^2 - 1 - b)\delta^2$,
 $F(u) := \|A(u) - f_\delta\|^2 + \epsilon\|u\|^2$, $m = m(\delta, \epsilon) := \inf_u F(u)$,
 $b = \text{const} > 0$, and $C^2 > 1 + b$.

If $\epsilon = \epsilon(\delta)$ solves (*), and $u_\delta := u_{\delta,\epsilon(\delta)}$, then $\lim_{\delta \rightarrow 0} \|u_\delta - y\| = 0$.

Nonlinear operator equations without monotonicity assumptions.

Theorem. If $\tilde{A} := F'(y) \neq 0$, then for the problem

$$\begin{cases} \dot{u} &= -T_{\varepsilon(t)}^{-1}(A^*F + \varepsilon(u - \tilde{u}_0)), \\ u(0) &= u_0, \end{cases}$$

conclusions (*) hold, where \tilde{u}_0 is suitably chosen.

Proof.

$$u - y = w, \|w\| = g, F(u) - F(y) = Aw + K,$$

$$\|K\| \leq \frac{M_2}{2} g^2, u - \tilde{u}_0 = u - y + y - \tilde{u}_0$$

$$\begin{aligned}\dot{w} &= -T_\varepsilon^{-1}(A^*Aw + \varepsilon w + A^*K + \varepsilon(y - \tilde{u}_0)) \\ &= -w - T_\varepsilon^{-1}A^*K - \varepsilon T_\varepsilon^{-1}(y - \tilde{u}_0)\end{aligned}$$

$$\dot{w} = -w - T_\varepsilon^{-1}A^*K - \varepsilon T_\varepsilon^{-1}\tilde{T}v, \|v\| \ll 1;$$

$$\tilde{T}v = y - \tilde{u}_0 \text{ if } \tilde{T} \neq 0.$$

$$g\dot{g} \leq -g^2 + \frac{c_0 g^3}{\sqrt{\varepsilon(t)}} + \varepsilon(T_\varepsilon^{-1} - \tilde{T}_\varepsilon^{-1} + \tilde{T}_\varepsilon^{-1})\tilde{T}v.$$

$$\varepsilon\|\tilde{T}_\varepsilon^{-1}\tilde{T}v\| \leq \varepsilon\|v\|,$$

$$\varepsilon\|T_\varepsilon^{-1}(A^*A - \tilde{A}^*A)\tilde{T}_\varepsilon^{-1}\tilde{T}\| \|v\|,$$

$$\leq 2M_2M_1g\|v\|; 2M_1M_2\|v\| = \frac{1}{2}.$$

Thus

$$\dot{g} \leq -\frac{1}{2}g + \frac{c_0 g^2}{\sqrt{\varepsilon(t)}} + \varepsilon \|v\|; \quad \mu = \frac{\lambda}{\sqrt{\varepsilon(t)}}, \quad \frac{\dot{\mu}}{\mu} = \frac{1}{2} \frac{|\dot{\varepsilon}|}{\varepsilon} \leq \frac{1}{4}.$$

$$1) \quad \frac{c_0}{\sqrt{\varepsilon(t)}} \leq \frac{\lambda}{2\sqrt{\varepsilon}} \frac{1}{4}; \quad \lambda = 8c_0.$$

$$2) \quad \varepsilon(t) \|v\| \leq \frac{\sqrt{\varepsilon(t)}}{2\lambda} \frac{1}{4}; \quad 8\lambda \|v\| \sqrt{\varepsilon(t)} \leq 1$$

$$3) \quad g(0) \frac{\lambda}{\sqrt{\varepsilon(0)}} < 1$$

If $\varepsilon(0) > 8g(0)c_0$, then condition 3) holds.

If $\|v\| < \frac{1}{8\lambda\sqrt{\varepsilon(0)}}$, then 2) holds.

Theorem is proved. □

Getting rid of the inversion of the derivative operator.

$$F(u) = 0 \quad (1) \quad \|[F'(u)]^{-1}\| \leq m, \quad F(y) = 0.$$

Theorem.

$$\begin{cases} \dot{u} = -QF, & (2) \\ \dot{Q} = -TQ + A^*, & u(0) = u_0, \quad Q(0) = Q_0. \end{cases}$$

If u_0 and Q_0 are properly chosen then (*) holds.

Proof. $T \geq \varepsilon > 0$, $\varepsilon = \text{const}$. Thus

$$\begin{aligned}\|Q(t)\| &\leq \|Q_0\|e^{\varepsilon t} + e^{-\varepsilon t} \int_0^t e^{\varepsilon s} M_1 ds \\ &\leq \|Q_0\| + \frac{M_1}{\varepsilon} := c_0.\end{aligned}$$

$$u - y = w, \|w\| = g(t); F(u) - F(y) = \tilde{A}w + K,$$

$$\tilde{A} = F'(y), \|K\| \leq \frac{M_2}{2} g^2,$$

$$\dot{w} = -w + w - Q(F(u) - F(y)) = -w + \Lambda w - QK,$$

$$\Lambda = I - Q\tilde{A}.$$

$$g\dot{g} \leq -g^2 + (\Lambda w, w) + c_1 g^3, \quad c_1 = \frac{c_0 M_2}{2},$$

Lemma.

$$|(\Lambda w, w)| \leq q \|w\|^2, \quad 0 < q < 1.$$

$$\dot{g} \leq -\gamma g + c_1 g^2, \quad 0 < \gamma := 1 - q < 1.$$

Thus $g(t) \leq c_2 e^{-\gamma t}$, $c_2 = \frac{g(0)}{1 - c_1 g(0)}$, if $c_1 g(0) < 1$.

Theorem is proved. □

Proof of the Lemma.

$$\dot{\Lambda} = -\dot{Q}\tilde{A} = TQ\tilde{A} - A^*\tilde{A} = -T\Lambda + A^*(A\tilde{A}).$$

$$\begin{aligned}\|\Lambda\| &\leq \|\Lambda_0\|e^{-\varepsilon t} + e^{-\varepsilon t} \int_0^t e^{-\varepsilon s} M_1 M_2 c_2 e^{-\gamma s} ds \\ &\leq \|\Lambda_0\| + c_3 \|u_0 - y\| < q < 1.\end{aligned}$$

The Lemma is proved. □

$$(1), \quad F(u) = 0$$

$$(2), \quad u_{n+1} = u_n + h\Phi(u_n)$$

there exists y such that $F(y) = 0$, and

$$\|\Phi(u) - \Phi(v)\| \leq L_2 \|u - v\|$$

Theorem. If

a) $(F'\Phi, F) \leq -c_1\|F\|^2,$

b) $\|\Phi\| \leq c_2\|F\|,$ and

c) $r \leq R,$

where $r = \frac{c_2}{c_1}\|F_0\|$ and $F_0 = F(u_0)$, then

$$\|u_n - y\| \leq re^{-chn}, \quad \|F(u_n)\| \leq \|F_0\|e^{-chn},$$

where $0 < c < c_1$.

Proof.

$$\text{Let } \begin{cases} \dot{w}_{n+1}(t) &= \Phi(w_{n+1}) \\ w_{n+1}(t_n) &= u_n, \quad t_n = hn. \end{cases}$$

Then

$$\begin{aligned} \|w_{n+1}(t) - y\| &\leq \frac{C_2}{C_1} \|F_n\| e^{-c_1(t-t_n)} \\ &\leq re^{-chn-c_1(t-t_n)}, \quad t > hn, \\ \|u_{n+1} - y\| &\leq \|u_{n+1} - w_{n+1}\| + \|w_{n+1} - y\|, \\ \|u_{n+1} - w_{n+1}\| &\leq \int_{t_n}^{t_n+h} \|\Phi(u_n) - \Phi(w_{n+1}(s))\| ds \\ &\leq L_1 \int_{t_n}^{t_n+h} \|u_n - w_{n+1}(s)\| ds \\ &\leq L_1 h \int_{t_n}^{t_n+h} \|\Phi(w_{n+1}(s))\| ds \\ &\leq L_1 h c_2 \int_{t_n}^{t_n+h} \|F(w_{n+1}(s))\| ds \\ &\leq L_1 h c_2 \|F(u_n)\| \leq L_1 c_2 h^2 \|F_0\| e^{-chn} \\ &= L_1 c_1 h^2 re^{-chn}. \end{aligned}$$

Thus $\|u_{n+1} - y\| \leq re^{-chn}(e^{-c_1h} + L_1c_1h^2) \leq re^{-ch(n+1)}$
provided that

$c < c_1$ and h is such that $e^{-c_1h} + L_1c_1h^2 < e^{ch}$.

$$\begin{aligned}\|F(u_{n+1})\| &\leq \|F(u_{n+1}) - F(w_{n+1}(t_{n+1}))\| \\ &\quad + \|F(w_{n+1})(t_{n+1})\| \\ \|F(w_{n+1}(t_{n+1}))\| &\leq \|F(u_n)\|e^{-c_1h} \leq \|F_0\|e^{chn-c_1h} \\ \|F(u_{n+1}) - F(w_{n+1}(t_{n+1}))\| &\leq M_1L_1c_1h^2re^{-chn} \\ &= \|F_0\|e^{-chn}M_1L_1c_2h^2.\end{aligned}$$

Thus

$$\begin{aligned}\|F(u_{n+1})\| &\leq \|F_0\|e^{-chn}(e^{c_1h} + M_1L_1c_2h^2) \\ &\leq \|F_0\|e^{-ch(n+1)}.\end{aligned}$$

Theorem is proved. □

Lemma. Let $f(t, w)$, $g(t, u)$ be continuous in the region $[0, T) \times D$ ($D \subset \mathbb{R}$, $T \leq \infty$) and $f(t, w) \leq g(t, u)$ if $w \leq u$, $t \in (0, T)$, $w, u \in D$. Assume that $g(t, u)$ is such that the Cauchy problem

$$\dot{u} = g(t, u), \quad u(0) = u_0, \quad u_0 \in D,$$

has a unique solution. If

$$\dot{w} \leq f(t, w), \quad w(0) = w_0 \leq u_0, \quad w_0 \in D,$$

then $u(t) \geq w(t)$ for all t for which $u(t)$ and $w(t)$ are defined.

Let g be the function from Theorem 15. Define the new function w by the formula:

$$w(t) := g(t)e^{\int_{t_0}^t \gamma(s)ds}.$$

Then

$$\dot{w}(t) \leq a(t)w^2(t) + b(t), \quad w(t_0) = g(t_0),$$

where

$$a(t) = \sigma(t)e^{-\int_{t_0}^t \gamma(s)ds}, \quad b(t) = \beta(t)e^{\int_{t_0}^t \gamma(s)ds}.$$

Consider the equation:

$$\dot{u}(t) = \frac{\dot{f}(t)}{G(t)} u^2(t) - \frac{\dot{G}(t)}{f(t)}. \quad (1)$$

One can check by a direct calculation that the the solution to this equation is given by the following formula

$$u(t) = -\frac{G(t)}{f(t)} + \left[f^2(t) \left(C - \int_{t_0}^t \frac{\dot{f}(s)}{G(s)f^2(s)} ds \right) \right]^{-1}, \quad (2)$$

where C is a constant. If $u(0) = u_0$, then $C = \frac{1}{u_0 f^2(0) + G(0)f(0)}$.

Define f and G as follows:

$$f(t) := \mu^{\frac{1}{2}}(t) e^{-\frac{1}{2} \int_{t_0}^t \gamma(s) ds}, \quad G(t) := -\mu^{-\frac{1}{2}}(t) e^{\frac{1}{2} \int_{t_0}^t \gamma(s) ds},$$

and consider the Cauchy problem for equation (1) with the initial condition $u(t_0) = g(t_0)$.

Then C in (2) can be calculated:

$$C = \frac{1}{\mu(t_0)g(t_0) - 1}.$$

One gets

$$a(t) \leq \frac{\dot{f}(t)}{G(t)}, \quad b(t) \leq -\frac{\dot{G}(t)}{f(t)}.$$

Since $fG = -1$ one has:

$$\int_{t_0}^t \frac{\dot{f}(s)}{G(s)f^2(s)} ds = - \int_{t_0}^t \frac{\dot{f}(s)}{f(s)} ds = \frac{1}{2} \int_{t_0}^t \left(\gamma(s) - \frac{\dot{\mu}(s)}{\mu(s)} \right) ds.$$

Thus

$$u(t) = \frac{e^{\int_{t_0}^t \gamma(s) ds}}{\mu(t)} [1 - \nu]$$

where

$$\nu = \left(\frac{1}{1 - \mu(t_0)g(t_0)} + \frac{1}{2} \int_{t_0}^t \left(\gamma(s) - \frac{\dot{\mu}(s)}{\mu(s)} \right) ds \right)^{-1}. \quad (3)$$

It follows from conditions of Theorem 15 that the solution to problem (1) exists for all $t \in [0, \infty)$ and the following inequality holds with $\nu(t) > 0$:

$$1 > 1 - \nu(t) \geq \mu(t_0)g(t_0).$$

From Lemma and from formula (3) one gets:

$$\begin{aligned} g(t)e^{\int_{t_0}^t \gamma(s)ds} &:= w(t) \leq u(t) = \frac{1 - \nu(t)}{\mu(t)} e^{\int_{t_0}^t \gamma(s)ds} \\ &< \frac{1}{\mu(t)} e^{\int_{t_0}^t \gamma(s)ds}. \end{aligned}$$

Thus, Theorem 15 is proved. \square

Bibliography

- [1] A. G. Ramm, **Dynamical Systems Method (DSM) for solving operator equations**, Elsevier, Amsterdam, 2007.
- [2] _____, Dynamical systems method for solving nonlinear operator equations, International Jour. of Applied Math. Sci., 1, N1, (2004), 97-110.
- [3] _____, Dynamical systems method for solving operator equations, Communic. in Nonlinear Sci. and Numer. Simulation, 9, N2, (2004), 383-402.
- [4] _____, Dynamical systems method and surjectivity of nonlinear maps, Communic. in Nonlinear Sci. and Numer. Simulation, 10, N8, (2005),931-934.
- [5] _____, DSM for ill-posed equations with monotone operators, Comm. in Nonlinear Sci. and Numer. Simulation, 10, N8, (2005),935-940.
- [6] _____, Dynamical systems method (DSM) for unbounded operators, Proc. Amer. Math. Soc., 134, N4, (2006), 159-1063.
- [7] _____, Discrepancy principle for the dynamical systems method, Communic. in Nonlinear Sci. and Numer. Simulation, 10, N1, (2005), 95-101.

- [8] _____, Dynamical systems method and a homeomorphism theorem, Amer. Math. Monthly, 113, N10, (2006), 98-933.
- [9] _____, Dynamical systems method for nonlinear equations in Banach spaces, Communic. in Nonlinear Sci. and Numer. Simulation, 11, (2006), 306-310.
- [10] _____, Dynamical systems method (DSM) and nonlinear problems, in the book: Spectral Theory and Nonlinear Analysis, World Scientific Publishers, Singapore, 2005. , pp. 201-228 (ed J. Lopez-Gomez).
- [11] _____, **Inverse problems**, Springer, New York, 2005.
- [12] _____, Dynamical systems and discrete methods for solving nonlinear ill-posed problems, Appl. Math. Reviews, vol. 1, Ed. G. Anastassiou, World Sci. Publishers, 2000, pp. 491-536. isbn 981-02-4339-1. (with R. Airapetyan)
- [13] _____, Continuous regularized Gauss-Newton-type algorithm for nonlinear ill-posed equations with simultaneous updates of inverse derivative, Intern. Jour. of Pure and Appl. Math., 2, N1, (2002), 23-34. (with A. B. Smirnova).
- [14] _____, Continuous methods for solving nonlinear ill-posed problems, (with R. Airapetyan, A. Smirnova), in the book "Operator theory and applications", Amer. Math. Soc., Fields Institute Communications, Providence, RI, 2000, pp. 111-138.
- [15] _____, Convergence rates of the continuous regularized Gauss-Newton method, Jour. Inv. Ill-Posed Probl., 10, N3, (2002), 261-280. (with B. Kaltenbacher and A. Neubauer).
- [16] _____, Global convergence for ill-posed equations with monotone operators: the dynamical systems method, J.Phys. A, 36, (2003), L249-254.